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NPP Period : 202504

all ATMS 2 1000 hPa
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NPP Period : 202504
all ATMS 3 1000 hPa
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NPP Period : 202504
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all ATMS 7 400 hPa
.30 o oo v A o o oo v A o o oo v [ o o oo v A o o oo ro 7250000
o5 BB B B B B B 44— B B B 8 R S FEE SRS RN EEEEN EEEEN (EECEE EEEEEE EREES
1200000
oo - N B BB K B 8% B KB B B 8% 8% B B B BB B B B 8B
1 150000
o5 A - N--® B B K B 8 B B B B 8% 8% K B B 8 8B B B8R 8
ool -H W B KB K B ® 8B KB B ®B 8% 8% K B @ 8 8B K B B 8
1 100000
oos5@- NN W B KB K B ® 8B KB B B % 8% K B @ 8 8B KB B B 8
150000
-0.05 0
2 3 a 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25

Scan position angles classes

= bias obs-guess = std obs-guess [ nbobs [ nbrejects [l nb gross errors

Observations



Tbh (K)

NPP Period : 202504

all ATMS 8 290 hPa
.16 o oo v A o o oo v A o o oo v [ o o oo v A o o oo ro 7250000
0.14 R~ F o B Rl BB
-1 200000
(R P] SiEEEEE EEREEE ARREEE - EEREES  REEEE - EEEEE  CEEREE " EELEEE " EEREEE CARLERN * EREEE EEEREE EEEEEE - EEREEE (O REERE RN R e ey - o RREEE - EEEREE EEREEE - EERE
oo N H ¥ B B K B % 8B B B 8 8% % KB B ®B 8% B KB K B 8
1 150000
0.08 = -~ -F o R iR
-1 100000
oosl N W ¥ B B B B 8% B B B 8B 8% % B B B 8% B B B B 8
ool N B ¥ B B B B 8% 8B B B 8B 8% % B B B 8% B B B B/8
150000
0.02fF -\ B B Nt NGl
0.00 0
1 2 3 a 5 6 7 8 9 10 11 12 13 14 15 16 25

Scan position angles classes

= bias obs-guess = std obs-guess [ nbobs [ nbrejects [l nb gross errors

Observations



Tbh (K)

NPP Period : 202504

all ATMS 9 190 hPa
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NPP Period : 202504
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NPP Period : 202504
all ATMS 13 15 hPa
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all ATMS 14 6 hPa
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all ATMS 16 1000 hPa
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all ATMS 17 850 hPa
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all ATMS 21 400 hPa
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all ATMS 22 350 hPa
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